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o th“h of the following sentence is correct?

“?J Hlis admits of no excuse.
() His condyey admits to no excuse.
{d) His cq

rduct admits for no excuse.
31 SIOTR ST a3 2 e ) e AT
(@) Call a doctor (b) Call for doctor
(c) Call in g doctor (d) Call to doctor
*¥21 He is innocent the C_'},M'Eﬂr
@of (Bwith ()10 (d)on
28| Handy means -
(a} Convenient (b) Useful (c) Comfortable (d) Light
a2 | OMS stands for -
(a) Open Market Strategy  (b) Open Market Sale
() Open Market System  (d) Open Market Support
¥4 1 Choose the correct speeling
(&) acomodation (b} accommodation
(c) accomodation {d) acommodation
11 *Maiden Speech’ means -

(2) The short speech  (b) The very good place
() The last speech  (d) The first speech

3| The train - from Rangpur,
(a) already arrive (b) has already arrived

(¢) have already arrived (d) already has been arriving
3| The man was accused forgery.
(a) with (b) of () for (d) 1o
go| Who wrote the book titled *India wins freedom’ -
(a) A.P.J Abdul Kalam  (b) Abul Kalam Azad
() Kazi Nazrul Islam (d) Mahatma Gandhi
o3| Bangladesh is committed 5 policy of peaceful existence.
(a)of (b)into (c) for (d) to
w3 'S, 913 8 o g — 4% 2208 W il
(a) You, he and 1 will go to school.
(b) He, you and I will go to school,
() I, you and he will go to sehaol,
{d) You, I and he will go to school.
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Which of the following sentence is correct?

<. His conduct admits no excuse.

. His conduct admits of no excuse.

9. His conduct admits to no excuse.

¥, His conduct admits for no excuse. Ted: 4
[George's English Language (July, 2022) = Page -149, Q.-12]

‘TSR OF @3 AT TAE AqaW @2

<. Call a doctor <. Call for doctor

o. Call in a doctor ¥, Call to doctor Teq: of

[George's English Language (July, 2022) => Page -140]

He is innocent the charge.

<. of <. with

. to 9. on TEd: T

[George's English Language (July, 2022) = Page -264, Q.-281]
Handy means — www.prebd.com

<. Convenient ¥. Usetul
. Comfortable g, Light Teq: ¥

[George's English Language (July, 2022) = Page -970, Q.-19]
OMS stands for-

¥. Open Market Strategy <. Open Market Sale
7. Open Market System 9. Open Market Support Ted: ¥

[eret MP3 IR0t (52 G, 2033) = 7ol-980, &%-b]
Choose the correct specling

<. acomodation ¥. accommodation
. accomodation T, acommodation Tad: o

[George's English Language (July, 2022) = Page -752, Q.-11]
‘Maiden Speech’ means-

<. The short speech 4. The very good place
. The last speech g. The first speech Teq: ¥

|George's English Language (July, 2022) = Page -650, Q.-3]



. Thetrain  from Rangpur.
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<. already arrive %. has already arrived

o. have already arrived 9. already has been arriving Taq: ¥
The man was accused  forgery.

<. with <. of

o1, for €. 10 Teq: ¥

[George's English Language (July, 2022) => Page -252, Q.-24]
Who wrote the book tilled “India wins freedom’
<. A.P.J Abdul Kalam <. Abul Kalam Azad
of. kazi Nazrul Islam ¥, Mahatma Gandhi Ted: ¥
[eret MP3 JiaTev! (52 G, 2033) = 7»1-98, 2¥-3]
Bangladesh 1s committed  a policy of peaceful existence.
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<. You, he and I will go to school.
4. He, you and I will go to school.
. I, you and he will go to school.
9. You, I and he will go to school. Ted:
[George's English Language (July, 2022) = Page -45, Q.-2]
Karim died  Covid-19. www.prebd.com
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[George's English Language (July, 2022) = Page -156, Q.-150]

It has been raining  morning.

F. 1n <. since

7. for g, of Teq: 4
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We waited until the plane

<. had not taken . took off

. had taken off 9. did not taken off Teq: o
[George's English Language (July, 2022) = Page -366, Q.-8]

(6 Abstract noun?

<. man <. height

oI fury . long Teq: 4

[George's English Language (July, 2022) = Page -11, Q.-15]
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<. Is he go? 4. Do he go?
. Does he go? 9. What he go? Taq: o
[George's English Language (July, 2022) = Page -879, Q.-1]
Choose the word which never has a plural?
<F. mouse . intension
5. women g, information Ted: 9
[George's English Language (July, 2022) = Page -26, Q.-8]
Teacher said, 'The earth round the sun.
<F. moves 4. moved
*. has moved 9. will be moving Ceq: §
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May Bangladesh prosper- www.prebd.com
<. day to day <. day by day
o. day with day ¥. day of day Teq: ¥
|George's English Language (July, 2022) = Page -433, Q.-280]
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